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AP Calculus AB Name:

Unit 5 — Day 2 — Assignment

For the exercises 1 — 5, determine wheth
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e¢Rolle’s Theorem Yan be applied to the function on the

indicated interval. If Rolle’s Theorem can be applied, find all values of ¢ that satisfy the
theorem.

1. f(x)=3c2 —4x on the interval 0 <x <4
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2. f(x)= (x+4)2(x—3) on the interval 4 <x <3
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3. f(x)=4—|x—2| on the interval -3 <x <7
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5. f(x)=cos 2x ontheinterval Z < y < 27 TN e
Q) 1S @y o T’?),3'Z‘TI3 3./ T LK\%-_LS\TVL}Ql
Sl 1§ disE o0 (M, Pi2) V4 S - A& LQ\C\) -0
A : _
ST 05 {&iﬁé}; = -l Qo%\\@p& L‘é\ﬂ{ﬁé). 0
‘?Lw{ﬂ’ (0% (’;ﬁg?) = o o Q\_Q:"W, %T"T; LU S L PR
i g =3v
DR Gl 'Qf o
v ley ) ﬁ I.ﬁ’ 7’3




For exercises 6 — 9, determine whether th¢ Mean Value The@an be applied to the function
on the indicated interval. If the Mean Value Theorem can be applied, find all values of ¢ that
satisfy the theorem.
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6. f(x):x3 —x? —2x on—-1<x<1
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9.. h(x)=2cosx+cos2xonl<x<n
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